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Answer either in English or in Assamese

1. Answer the following as directed : 1x10=10

oo fraferes e Sepife Teq fran

(a) Is truth property of an argument?

MV ‘{{fﬁ@ R A ?
(b) The conclusion of an Inductive argument/
Deductive argument is always probable.

( Choose the correct answer )

b1 ST Ie / Mo IR Pramechn
T SRS |
( @z Teeh! A Tferear )
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(c) An argument has WO premises/one
premise/no fixed number of premises.
( Choose the correct answer )

<51 AT WBI AR T /9Ol S DB/
Y 5T (I A3 A R
(w5 Teqch! e Tliear )

(d) Syllogism is an immediate deductive
inference/mediate deductive inference.
( Choose the correct answer )

TR @1 S e S /S e
SR |
(= Tl IR Sferear )

(e) Which term in a syllogism is present in both
the premises, but absent in the conclusion?

TR (IOl oW AL TR IS TofFe
AN, 5T Prage SeEs s 2

(f) An A proposition can be converted simply.,
( Write True or False )

@Bl A qb-{ TSI IS T[R9 “A1fF |
( 3751 o1 fawy foran )
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(3)

(2) State the position of the middle term in the
Third figure of a syllogism.

T PO YIS (TG4 FICH! TCE 41 |

(h) Write the Greek symbol used to mean a
‘Null set’.

‘Re 72f® qoRa I9TT 0 A A@RwCH!
forall |

(i) Symbolise the given proposmon by means of
set notation :

Fafae Il Wefe v TERE AT
<9l i '
All Philosophers are wise
Secat w23 @i

(i) Two sets having the same member are
calledsaing
( Fill in the blank )

T TN A 01 AR el (PRI = |
(e IR s 1)

2. Answer the following : 2x5=10
wore frarcarEs ey e

(a) Define Conversion by Negation.

forcaggere Huadey e e |

22A /435 ( Turn Over)



(/4)

(b) Give example : Venn Diagram.

_Wﬁﬁm:c\sﬂfﬁm

(c) What is the fallacy of four terms?
vo=eft oy WA <6 2

(d) What is Infinite set?
AT 72fS e 2

(¢) Write two differences between mediate and
immediate inference.

TN S S ST NS Kol #(12 feisl |

3. Answer any four of the following : 5x4=20
wers frar R e ifeR T fors

(a) State any two differences between
Deductive and Inductive arguments.

fermee e we e e Tw [
GG Y51 AN1(w) Tear” 341 | -

(b) Whatis a figure of a syllogism? Demonstrate
the figures of a syllogism with proper
symbolic form. 1+4=5

TEE REM WA 7 WAIRE  ASiee
HRPIRE FRITS R HALZFCHRO! Al 3547 |
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(c) What do you mean by oppositions of
propositions?

(d) What is simplification of propositions?
Simplify the following sentences into logical
form : 2+3=5

[/ AT T B2 FalRe amn
SF SR FIATIT A1 -

(i) All that glitters is not gold.

AT HIGRI I- T 72 |
(ii) Any student can do this.

& Il =2 @201 IR A1 |
(iii) Virtuous alone are happy.

GG FALCACPL F |

(e) State the special rules of the Fourth figure.
vodf g ReE FEgeaE Soee 4 |

(f) What are subset and superset?

Someafe o st T &2

4. What is an argument? Explain the relation
between argument and argument form. 2+8=10
I e 7 IE WF &I TP AR A0S
RUEHEEE IR
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Or / 911

Write an explanatory note about the relation
between truth and validity.

Tofel WF  (9HO  EE TAE @bl IR
o1l ot |

5. What is square of opposition? Explain it with

10

diagrams. 2+8=10

wﬁmﬁrmw‘m—w GTCe 2 o e 41 |
Or / 941

Define proposition. Write briefly about the
four-fold scheme of proposition.

I/ A @ IR v [eem A9Em B
fora |

6. Explain the Venn diagrammatic technique to test
~ the validity of syllogistic arguments with suitable
examples.
THZRR RO  (SAibd &S o@e IR (M
TS & (M 4T R =17, < 41 |

Or / 9231

Prove the validity of the following syllogistic

10

10

arguments with the help of Venn diagram:  5+5=10

oS il WRE LT [0l (eivaq wems o
<41

(a) Some philosophers are mathematicians
All scientists are mathematicians

.". Some scientists are philosophers
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PR T 2 e
S5ceT Kema) 27 sifdes

R RS =g weifre

(b) All humans are mammals
No humans are cats

. No cats are mammals

FPCE T2 7Y TPl &I
(I R T T
CIC (TP =2 T G

7. What is a set? What is set membership?
Symbolise AEIO propositions by means of set
notations. . 10

Hezfe e & 9 AEfeR e I Q@NCE ? RS TGS
S AEIO I59@ 2019 RIS AP 4 |

Or / 9<[1

What is operation of sets? Explain different kinds
of operation of sets with examples. 10

weafeq dferm eee © @2 ICETEE R RICCIICH
IR Tkefed Al Ry 1
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